HERENHARA
RE@IEEKEE 4BRITIIER (FR28%K1A17B~FM28%52H813H)

wIInvy _ 1A | 28
(HIRLE T A 2 EFLAR) %8 58 E3E] kiR
XORNHBFITEBAHEE 178 | 188 198 208 218 | 228 238 | 248 | 258 268 278 288 298 308|318 18 28 38 4B 58 68 | 7H 88 | 98 108 118 128 138

FLEBI [FHEREFEDFRE]

TSAVFET e— 4/30 FREREALEALA
TSR REBRRKE: 6/ 3 REREHEMADISIUHAEL(4TOYY)
8/13 REEHEBEM~DISAUEHAFL (8T YY)

8/21 DA E#AELE(1~8T0v))
1BLK CE#E:75775K) e e ey
GAIE:16.7164) 9/15 ISAVRERERET (1~970vY)

(B85A:75.775K) )/ TSV FTBHEETRT . T 71 BIRBRRRE H
2BLK CE#E:19719K) A " StER L

(A5 2 5 HER R SERERE HEES HE AR

(B5A:19.719K) SE)9/15T 5L MM LR T . T4 BB MR \ \ |
3BLKC (348 199 190%) - | mmaw S RS

A m

(B23A 199, 1997%) ) 9/1ST AL FIEERT . T 51 R BB R o L |
ABLK (E#E:33(7)./33()A) HERE Y HEREE SEREGE

(5&']5]1517/7$) B = & = = ¢~ 4 =
B 3T B3(TY) E)9/15T AL RHEIEER T . TS/ EEEER M3t
5BLK (E#E:218(23).7218(23)%K)
CGRISR :47(3).747(3)A) X X i
(357 :218(23),7218(23)&) E)/1IST AV TIBEEER T I3/ EIRBRBHRE

6BLK (E#E:193(19).7193(19)A) SN SHERS SHERES SERERE
(RIS 42,/ 42K) BRI BB RS A AR e

(F23A:193(19),7193(19)K) E)Y15T AT ERT . T BEBERE BT \

—
\J
J

]
7BLK CE#E:125(14).7125(14)K) Ei\f.%ﬁbi.‘ﬁﬁ ‘ ‘ é—ﬁ%;ﬁﬁ Eﬂf%ﬁ;ﬁ{ﬁ# é‘:ﬁﬁ*ﬁ}ﬁ.ﬁ

GRIE : 29(1).729(1)A)
(B2 : 125(14)/125(14) %) F)/ISTSAVFHUEETT . I 51 B RBBE MR P | |

=
\J,
dl

8BLK (##%:1027102%) AR | BT AR EL VL
BR:22722
i @s) H)9/15T SV FHIMERT . T 51> EIRE B iAo

9BLK (E#E:72(7)./72(1)K)

AR 17(1)./17(1)
E;jg ; 728 /72(7@3 )9/ IST AL FIMERRT . I ERBME MR

10BLK (E##:83.7834)
(AI;E :20.720%K)
(332 :83.783K) $¥)11/300 5/ FEEESE T (11BLKO TEHRMEZEST)

11BLK (B : 235(36).235(36)4) ISAUKET ISALFET ISAUFRET

(IR : 56(3).56(3) &)
(Eﬁ1235(36)/235(36)$) * *

|

12BLK (E##:.160(28).7160(28)%) oA AT K- SodomT
(GRIiE :39.7394)
(3832 :160(28).160(28) &)

13BLK CE#E:54(4). 7 54(4)A)
GRIiR:16.7164)
(337 :54(4) / 54(4)K)

JS54VFKET IJSAVFRET ITSAUFET




PEALEKEE FiSE < BIRERIFIES OITEBEEAEE
) 5 a1
I
L B hd
= ¥ 0 =
= _ £
. Bmst
o] - IEIII.H) I_L_|

#1T/B

o
=880 25 )
00% = 2 63,/68 0 0%
me
= 68,/ 68
o B &
S g
: 5]
o R a i}
I
- r
] F. LIS
-,
»
ol
8 8 00%
o o
8 8
o =
8 8




